CONTRACT AGREEMENT

NO.: 2020-114

FOR

CONSTRUCTION OF 1-CL SCHOOL BUILDING WITH PWD TOILETS AT MAYACABAC ELEMENTARY SCHOOL, MAYACABAC, DAUIS, BOHOL

KNOW ALL MEN BY THESE PRESENTS:

This CONTRACT made by and between the Provincial Government of Bohol (Government, represented by the Governor, Atty. ARTHUR C. YAP hereinafter called the "Owner"), as the PARTY OF THE FIRST PART and C. JANSEN CONSTRUCTION & GENERAL MERCHANDISE, represented by MRS. CHERYL JANSEN C. VITOR (hereinafter called the "Contractor") as the PARTY OF THE SECOND PART,

WITNESSETH

WHEREAS, the Owner is desirous that CONSTRUCTION OF 1-CL SCHOOL BUILDING WITH PWD TOILETS AT MAYACABAC ELEMENTARY SCHOOL, MAYACABAC, DAUIS, BOHOL, belonging to the Provincial Government of Bohol (hereinafter called the "Project");

WHEREAS, the Owner has accepted the bid of the Contractor for the execution of the above mentioned project in the amount of *One Million One Hundred Fifty One Thousand Four Hundred Forty Five Pesos Only* (§ 1,151,445.00).

WHEREAS, Project shall be completed in 90 Calendar Days in accordance with the provisions of the Bid Documents;

NOW, THEREFORE, the Parties hereto further agree on the following:

- The following documents shall be deemed to form parts of this contract, viz:
 - a. Contract Agreement;
 - b. Bidding Documents;
 - c. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents/statements submitted;
 - d. Performance Security;
 - e. Credit line in accordance with the provisions of this IRR, if applicable;
 - f. Notice of Award of Contract;
 - g. Other contract documents that may be required by existing laws and/or the procuring entity concerned in the Bidding Documents, such as man power schedule, equipment utilization and health program;
 - h. Other pertinent documents as may be reasonably required by the Province.
- Project Equipment specified/needed should be stationed at the project sites until
 completion of all work operations. The deliberate act of removing the equipment
 from designated project sites is not permissible.

- 3. The Provincial Engineer's Office together with PEO Officials should convene with contractors or their authorize representatives for a regular Monthly Coordination Meeting scheduled every first (1st) Wednesday at 9:00 in the morning at the Provincial engineer's Office, New Capitol Site, Tagbilaran City and;
- 4. The pertinent provision of R.A. 9184 and its Implementing Rules and Regulations, Part A, particularly but not limited to the implementation of the project as well as all applicable laws and regulations are deemed incorporated to and forming integral parts of this Contract.
- 5. In consideration of the payments to be made by the Owner to the Contractor, as earlier mentioned, the Contractor hereby covenants with the Owner to implement and complete the Project in conformity with the provisions of the Contract, the documents incorporated herein and the laws and regulations made integral parts hereof.
- 6. The Owner hereby covenants to pay advance payment to the Contractor of 15% of the total contract price upon approval of the Contract, issuance of Notice to Commence Work and the posting of irrevocable standby letter of credit of equivalent value. The Contractor hereby covenants to repay advance payment to the Owner by deducting 15% from his progress payment.

Item No.	QTY.	UNIT	MENTARY SCHOOL, MAYACAB. Description of Supplies/Materials/Services	Unit Price	Amount
				(Pesos)	(Pesos)
	PART A.		GENERAL REQUIREMENTS		
B.3	1.0	LOT	Permits & Clearances	5,204.68	5,204.68
			Application And Processing Of Building Permit With The Office Of The Building Official		
B.7	1.0	LOT	Safety And Health	2,000.00	2,000.00
B. 5	1.0	Unit	Project Billboard(4' X 8') (Tarpaulin W/ Standard Billboard Markings)	3,000.00	3,000.00
	PART B.		EARTHWORKS		
803(1)	23.30	CU.M.	Structure Excavation	1,592.00	37,093.60
804(1) B	46.0	CU.M.	Embankment(Selected Borrow)	388.00	17,848.00
804(4)	4.0	CU.M.	Gravel Bedding	1,835.00	7,340.00
	PART C.	200000000000000000000000000000000000000	TERMITE CONTROL		AND THE STATE OF T
1000	94.04	SQ.M.	Soil Poisoning	78.00	7,335.12
	PART D.		CONCRETE WORKS		
900(A)	2.16	CU.M.	Reinforced Concrete Column Footing	6,000.00	12,960.00

902(A)	170.55	KG.	Reinforcing Steel For Column Footing	60.00	10,233.00
900(B)			Reinforced Concrete Footing		
700(D)	3.9	CU.M.	Tie Beam 1 & 2	8,000.00	31,200.00
902(B)	725.566	KG.	Reinforcing Steel, Footing Tie Beam 1 & 2	60.00	43,533.96
900(Reinforced Concrete Column,	00.00	13,333.70
C)	3.63	CU.M.	Stiff.Col. & Pc	10,000.00	36,300.00
902(1,143.49		Reinforcing Steel For Column,		
C)	5	KG.	Stiff.Col.& Pc	60.00	68,609.70
900(D)			Reinforced Concrete Rb1, Rb2,		
	4.8	CU.M.	Lrb & Lintel Beam	9,500.00	45,600.00
902(D)	054.500	***	Reinforcing Steel For Rb1, Rb2,		9
	856.733	KG.	Lrb & Lintel Beam	60.00	51,403.98
900(0.04	CTTT	Reinforced Concrete Flooring,		
E)	8.84	CU.M.	Corridor & Ramp	6,000.00	53,040.00
902(272.010	WO	Reinforcing Steel For Concrete	(0.00	00 100 - 0
E)	373.812	KG.	Flooring, Corridor & Ramp	60.00	22,428.72
900(F)	0.03	CHA	Reinforced Concrete Works For	10 500 00	
	0.83	CU.M.	One-Unit C.R	12,500.00	10,375.00
902(F)	109.7	VC.	Reinforcing Steel For One-Unit	CO 00	<i>c</i> 500 00
	109.7	KG.	C.R	60.00	6,582.00
	PARTE		MASONRY WORKS		
1046	87.02	SQ.M.	MASONRY WORKS(6" CHB)	1,000.00	87,020.00
					01,020.00
	PART F		FINISHING		
1027					111 - 11 - 12 - 13 - 13 - 13 - 13 - 13 -
(1)	141.0	SQ.M.	CEMENT PLASTER FINISH	140.00	19,740.00
	PART				
	G		TILEWORKS		
1018			CERAMIC TILES (COMFORT		
(3)	13.18	SQ.M.	ROOMS)	1,000.00	13,180.00
	PART				The second secon
	H		METAL STRUCTURES		
1047	2 001 27		STRUCTURAL STEEL(ROOF		
1047	2,881.36	WC	FRAMING, FASCIA & RAMP	00.00	222 222 22
1007/1	6	KG.	RAILING) 4.5MM METAL FRAME	80.00	230,509.28
1003(1	102.25	SQ.M	FIBER CEMENT BOARD	(50.00	((4(2 50
- 1	10/20-/200	SQJVI	METAL BOARD	650.00	66,462.50
1051(5			RAILING(GRABRAIL) FOR	10 10 20	
)	2.0	PC.	PWD COMFORT ROOM	2,925.00	5,850.00
			1 W COM ON ROOM	2,723.00	5,050.00
	PART I.		ROOFING WORKS		
1014	Supplies and a second		PRE-PAINTED METAL		Co
1011	107.0	IN.M.	SHEETS	700.00	74,900.00
1	PART		1		
	J.		DOORS & WINDOWS		
1009	14.00	00.	GLASS JALOUSIE WINDOW		9 <u>0</u> 022000000000000000000000000000000000
(1)	14.39	SQ.M.	INCLUDING JAMBS	1,750.00	25,182.50
1010	2.70	0034	WOODEN DOORS W/ DOOR	4 000 00	,
	3.78	SQ.M.	JAMB PVG POOPS AND ED AME	4,000.00	15,120.00
1043	1.00	6034	PVC DOORS AND FRAME	2 200 00	40450
	1.89	SQ.M.	FOR C.R.	2,300.00	4,347.00

	PART K.		ELECTRICAL WORKS		
1100	108.0	IN.M.	CONDUIT, BOXES AND FITTINGS	40.00	4,320.0
1101	235.0	MTS.	WIRES AND WIRING DEVICES	50.00	11,750.00
1102	1.0	SET	PANEL BOARD	2,570.00	2,570.00
1103	15.0	SET	LIGHTING FIXTURES AND WALL FAN	715.00	10,725.00
	PART L		PLUMBING WORKS	STATE OF THE STATE	
1002	1.0	SET	PLUMBING(SANTARY LINES, WATERLINES & FIXTURES):	16,605.55	16,605.55
1002 (26)	11.30	CU.M	SEPTIC TANK	3,750.00	42,375.00
	PARTM		PAINTING WORKS	- Marie 1900 (***********************************	
1032 (1)A	319.07	SQ.M	MASONRY PAINTING(INCLUDING FIBER CEMENT BOARD)	115.00	36,693.05
1032(1)B	49.0	SQ.M	WOODEN PAINTING, STEEL FASCIA AND RAILING	110.00	5,390.00
W 1000	PART N		CARPENTRY		
1003	1.0	UNIT	BLACKBOARDS	6,617.38	6,617.38
			TOTAL AS CALCULATED	>>>>>	P1,151,445.02
			TOTAL BID AS READ	>>>>>>	P1,151,445.00

One Million One Hundred Fifty One Thousand Four Hundred Forty Five Pesos Only

Contract Amount as Read shall prevail as it is More Advantageous to the Government.

7. Any controversy arising from this contract shall be resolved under the duly established alternative mode of settling disputes as provided by law. In case of resort to court action the parties agree that the venue thereof shall be in the proper court in the city of Tagbilaran to the exclusion of any other venues.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed my notarial seal this 24% day of $\frac{1}{2}$ day of $\frac{1}{2}$ and $\frac{1}{2}$ day of $\frac{1}{2}$ and $\frac{1}{2}$ day of $\frac{1}{2}$ day of

PROVINCIAL GOV T OF BOHOL	GENERAL MERCHANDISE
BY: BY AUTHORIET OF THE GOVERNOR	BY:
PROUNCAL ADMINISTRATOR ATTY. ARTHUR C. YAP Governor 600	MRS. CHERYL JANSEN C. VITOR
WITNESSES:	
End User	EUSTAQIUO G. CALIAO PEO, Engineer IV
ACKNOWLE	DGEMENT
REPUBLIC OF THE PHILIPPINES) PROVINCE OF BOHOL) S.S.	sec.
Personally appeared before me. A	tty. Arthur C. Yap representing the Provincial
Government of Bohol with Employee ID No. 1	9141 and Mrs. Cheryl Jansen C. Vitor with
Community Tax Certificate No.	, issued at
, on	, known to me to be the same
persons who executed the foregoing instrument of upon which this acknowledgement is written, du	
each and every page thereof, and they acknowledge	
seal thisday of, 2020 in	hereunto set my hand and affixed my notarial Tagbilaran City, Bohol, Philippines.
Series of 2020 Signal S	ATTY ADAM RELSON L. JALA TARY PUBLIC AN LAGBY ARAN CITY. BOHOL GDMM. EXPLANTATION DATE 31.20ZI FER. PANULUL VIOLE A. CLARIN ST. MPAS BIST. TAGBIL FRAN CITY. BOHOL S3192. IBP 08890 TIN 232-794-764 IB NO. S891045. 12-17-19 FOD 2020

7. Any controversy arising from this contract shall be resolved under the duly established alternative mode of settling disputes as provided by law. In case of resort to court action the parties agree that the venue thereof shall be in the proper court in the city of Tagbilaran to the exclusion of any other venues.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed my notarial seal this 2410 day of 1980 day, 2020 in Tagbilaran City, Bohol, Philippines.

PROVINCIAL GOV'T OF BOHOL BY:	C. JANSEN CONSTRUCTION & GENERAL MERCHANDISE BY:
ATTY. ARTHUR C. YAP Governor kly	MRS. CHERYL JANSEN C. VITOR
WITNESSES: CAMILOL. GASATAN End User	EUSTAQIUO G. CALIAO PEO, Engineer IV
ACKNOWLEI	DGEMENT
REPUBLIC OF THE PHILIPPINES) PROVINCE OF BOHOL) S.S.	
Personally appeared before me, Att Government of Bohol with Employee ID No. 19 Community Tax Certificate No.	ty. Arthur C. Yap representing the Provincial and Mrs. Cheryl Jansen C. Vitor with issued at , known to me to be the same
persons who executed the foregoing instrument coupon which this acknowledgement is written, duly each and every page thereof, and they acknowledge	onsisting of five (5) pages including this page v signed by the parties and their witnesses on
IN WITNESS WHEREOF, I have I seal this day of _ MAI 2020, 2020 in T	nereunto set my hand and affixed my notarial lagbilaran City, Bohol, Philippines.
Page No: Book No. Series of 2020 GOMM. RD FLR P OAMPAS B	ELICAM RELEGIN L. JALA BLIC AN ACYONIS EXTRA DEJAMBER BI, 2021 GAMMAN TO J.A. CLARIN ST. 1ST TADBILANAN CITY BOHOL

IN 232 794-764

PAN CITY, BOHOL